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a=[3,7,5,4,1,6,2]
n=4

p=-1

if a[i]==n:
p=1i
break
print(p)

for i in range(5):
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# —0REE
a=[1,2,3,4,5]
n=5
=-1
1=0
r=len(a)
while 1<r:

c=int((1+r)/2)
if a[c]==n:

p=c
break
if a[c]«n:
1=c+1
else:
r=c
print(p)
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o 199 %5&3.50E (F15) if a[i]==n:
p=i
# break
print(p)
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a=[1,2,3,4,5]
n=>5
p=-1
1=0
r=len(a)
while 1l<r:
c=int((1+r)/2)
if a[c]==n:
p=C
break
if a[c]«n:
l=c+1
else:
r=c
print(p)
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o LWOMNEREARY—ILZHELTLHELTWET , ZFAEZSL
o Bit Arrow: TRV SV ZEEY—IL
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Si&(&. Python. DNCL, C. F!JkJL. Processing. 288 FAJavaScript
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m https://bitarrow.eplang.jp/
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import random
import matplotlib.pyplot as plt
deme=[ ]
for i in range(100):
deme.append(random.randint(1,6))
for i in range(1,7):
plt.bar(i, deme.count(i))
plt.show() —
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import cv2
img = cv2.imread("class/7-IMG_6564.7jpg")
cv2.imshow("", img)

o BZFER

rev = cv2.bitwise_not(img)

o IRERIMIH
gray = cv2.cvtColor(img, cv2.COLOR BGR2GRAY)
canny = cv2.Canny(gray, 200, 100)
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import pandas as pd
import folium

# WMEBSFTOMERHRZNG

shelters = pd.read csv("class/272159 evacuation_space.csv", encoding="shift-jis")

# R 1ERK
map = folium.Map(location=[shelters["#&E"][0], shelters["#XE"][0]], zoom start=12)

-l — A

# BHIBFE1ORT OV—Y

for 1 in range(len(shelters)):
latlng = shelters.loc[i, ["f&E", "#E"]].tolist()
name = shelters.loc[i, "&#"]
folium.Marker(latlng, popup=name).add to(map)

# MR~

map.show()
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